
Full Score

Asterozoa

IV. Ambulacral Groove

Paul Nabil Matthis

for five drummers

Instructions:

The fifth drummer plays a shaker on each quarter note and the bell pattern: ox-x-o-x-x

The players should improvise closed notes between open note rhythms.

After A, B, D, and J the Atsimevu should move to the side of the drum (clicks), then play a 1-measure roll

to signal the ensemble to move to the next section.

Moving from C to D no break or roll, just go on, man.
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IV. Ambulacral Groove

Paul Nabil Matthis
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